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Paper II1 : Solid State Electronics MM.: 50
| Section—A 1x10=10

1. Silicon is a semiconductor on adding a small quantity of Arsenic in
it, its conductvity : Faferia sTg=aeis ¥ | 389 i &1 3w we fiam 8
T TTeTHa—

(a) Increases FgTit (b) Decreases St

(c) Remains the same 9414 @M (d) Becomes zero bigal Bl S

2. For a transistor, the correct relation between o and B is : g &
o o 3R B weg W =Y g —

(a) =P (1 -) ®)o=p/(1-o)

(cyo=PR{l +0) @B=0a(+a).

3. n-p-n transistor is better than p-n-p transistor. because : p-n-p
gﬁmaﬁwﬁ n-p-n TR 3 a1 8, Fifr—

(a) It is cheaper 48 ¥l gl €

(b) It involves smaller energy loss S8 el &l &1 &R Bl

(c) It can withstand more power 48 Frfyur wiF W8 8 =T &9ar T@a

g
(d) In it the majority change carries are electrons $9H IS &l
Tifeiteran Sifus S ®
4. In a common emitter amplifier the phase difference between the
input signal voltage and the output voltage is : CE-yadf® # ffa wan fraxth
e wrel % o9 we=r g §—
(a) 0° (b) 180° (c) 270° (d) 360°.
5. Stability coefficient in Biasing stabilization is : feer aifimfe o
TIfae ToTe gl 8—
(a)l (b) 0 (c)B+1 (d) e
6. Loud line equation is : WR-X@T 1 AHIHI0T §—
(a)lc'i'P%("‘g (li'I'Ic-EQ 'YRQ‘
L L
Ve V V
@le=-g *+ R @ le=-g= -3

7. In a common base model, the current gain of a transistor is : SWIS
anyr fam § Ziferet &1 9 |nv—

(a)l'tﬁ?lT% (b)Lessﬂlanlﬁﬁa‘q@ﬁT%

(c) More than 1 @ Y& T & (d) Zero YR &I & |

8. For a FET the correct relation is : FET & e &t =Y T

@ Uu=r, Xgn, : (b)rp=uXgn

(€) gm=1p, XU dp=r,/gm

9, A MOSFET can be used as : MOSFET &1 War gl 8—

(a) Resistor Wfediyg (b) Capacitor 4Tl

(c) Switchfa=m - (d) All of the above I9T® |31 ¢
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10. Ripple factor of a half wave rectifier is : 3§ a1 feesRl & foaw
HEH A T—
(a) 1-21 (b) 0-81 (c) 048 (d) 0-23.
Section—B 2x5=10

1. Calculate the static and dynamic resistance of a P-N junction diode,
if T =300 K and Iy = 3pA when a forward bias of 0-3V is applied. P-N &y
erdie & fore Wi e nfest wfirry 3@ it 4z 300 K 99 W Hg@ gR
lp = 3pA T8 SEAIE W 21 tfmAfa Stedw 0-3 % AFgar

Discuss difference between Zener break down and Avalanche break
down. SIFR 9% T3 T TISHT 9% TET H 3K € SIS |

2, The o of a transistor is 49/50. If base current is 200 pA. Find out the
emitter current. Ueh 2SR il o = 49/50 § 1 SR SER ¥R HT WH 200 pA
¢, T IcSI%h ¥R & AF T S| - rgar

Can two p-n junction diodes placed back to back work as p-n-p
transistor ? T TE WS ® fF < p-n vl ?:'I'éﬁ?ffﬁp-n‘q' n-p A H WA W
p-n-p TR Y g1 =Y ?

3. Define Thermal Runaway. 96l T-319 § 39 1 GWgd § 7 3fwar

State the requirements of a biasing circuit. SRIFET TRYY & sTEvgHad
fafaa

4. A simple amplifier has a voltage gain of 50. If the gain is reduced to
10 by negative feedback. Determine the percentage of the input which is
feedback ? T HIUIRY Yot 1 Sees @AY 50 ] | BN [HAY F HROT
$HH HH HTH 10 T S = | ' g9: Fasht siw =t o wifs)

5. Draw the output characteristic curves of a JFET. JFET &1 frfa
&I F5F S 1ET | Fgar

Draw the circuit- diagram of a constant output voltege, I voltage
regulator. fa Frifa Sieest a1 I dieest Frames 1 farga wftay sw@)

Section—C | 10 x3=30

1. (a) Explain : I Sifse—

(1) Transfer of holes and electrons at a2 P-N junction under forward bias
condition. T P-N ¥y W smfefie a9 & oA €iat wd gl &1
T '

(1)) How a reverse bias depletes the majority current carries at the
junction. Y¥EII® IR FE YHR Y W SgEEIF YNaRS! &1 aed
FA LI

(b) Describe Zener diode as a Voltage Regulator. I SRITE %1 dlcedl
=+ & w9 | =aren =i

2. (a) What is 1'unnel diode ? Draw its characteristics curves and

| explain it. YU SIS &1 BT ¥ 7 36 TNeifoIT Sk ST 491 GHERT |

(b) Discuss the characteristics of class B power amplifier. Calculate its

efficiency. 1 B W& wad® & fucremn w1 sarem i | saat tipfad=dt
(STaeHaT) AT HIfST |
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3. Describe Hybrid model of a transistor and find out expression for

voltage gain, output and input impedance of a CE amplifier using this.

mode!. ZivrReX & Tau sEfvs Aiew #i =aE $itve iR 39 died =1 94
1{d g U& CE ¥a4% & fau dezar o, faw w frfa sfwdl & sbee
gra Fifsa

4. Why Biasing is necessary for a transistor ? Explain any two methods
of transistor biasing with their advantages and disadvantages. f&dl

o ST w1 F AEEE B © 2 giiee waian wi feel < oty

39 U T SN & Y GHHRT |

ﬁ.rﬁgi Write short notes on the following : fr=ifeifas W Hitra femforar
(a) Silicon Controlled Rectifier (SCR) fafeisia @wgial W@RIw™AL (SCR)
(b) Photo diodes WehT¥l SEIEH
(c) Basic linear integrated circuit §& 3% Thldd IRy |
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